SSLC ENGLISH-II

Daily 40 Marks Exam(20) 23-6-2021

Teacher: B. L. Jambagi (9916145821)

Govt. High School Jagadal Tq: Jamakhandi Dist: Bagalkot

KSEEB MODEL [s]Re]=gzzdNll

S.No Unit Qns Total marks

Grammar and | Language Function, Collocations, Syllable,
Passive voice, Verb forms, Prefixes/Opposites,
Parts of Speech, Phrasal verb, Degrees, If Clause, 16 16
Question tag, Articles, Prepositions, Linkers, Correct
form of word, Letter

composition

Lesson.1 A Hero 2
Lesson.2 There’s a Girls by the Tracks 2
Lesson.3 Gentleman of Rio en Medio 2
Prose-14 marky Lesson.4 Dr. B. R. Ambedkar 3 14 marks
Lesson.5 The Concert 2
Lesson.7 Colours of Silence 3
Poem,1 Grandma Climbs a Tree 2
Poem,2 Quality of Mercy 2
Poetry-10 marks Poem,4 The Song of India 2 08 marks
Poem,5 Jazz Poem Two 1
Poem,6 The Blind Boy 1
S.R.-1 Narayanpur Incident 1
5-R.-2 marks S.R.-3 A Great Marty Ever Cherished 1 2 marks

TOTAL 40 40 Marks

Grammar — 14 MCQ

41. I‘m very sorry. | will bring your notes tomorrow.
a. apologizing b. ordering
c. complimenting d. expressing gratitude

42. The word which collocates with ‘business’ is .....
A. lead B. trip
C. manage D. trade



43.

44,

45.

46.

47.

48.

49.

50.

ol.

How many syllable/s does the word ‘slew’ have?
A.one B. three
C. two D. four

She prepared food yesterday.
The passive form of the above sentence is
A. Food was being prepared by her yesterday.
B. Food was prepared food by her yesterday.
C. Food is prepared by her yesterday.
D. Food has been prepared by her yesterday.

They have .......... (be) there for two days.
The appropriate tense form of the verb to be used here is
A. was B.is
C. been D. be
The appropriate prefix to form the opposite of ‘honest’ is
A. dis B. anti
C.in D. non
She had not crossed the line.
The parts of speech of the underlined word is a/an
A. verb B. adverb
C. adjective D. preposition
The issue ...ceuenee. before the committee.
The correct phrasal verb to be used here is
A. came off B. came in
C. came up D. came out

Ganesh is the tallest of all.
The positive form of the above sentence is
A. No other is as tall as Ganesh.
B. No other of all is as tall as Ganesh.
C. No one is as tall as Ganesh.
D. Very few are as tall as Ganesh.

If you complete your work, you ........20 now.

The correct words to be used here to complete the ‘if’ clause sentence are

A. should B. can
C. would D. would have

He’s done the work correctly...........
The question tag to be used here is
A.isn’t he? B. is he?
C. has he? D. hasn’t he?



52. Yesterday, I saw ...... beggar in market. He was very weak and old. | went and gave

....... beggar some fruits. He thanked me.
The articles to be used here are
A.a,a B. the, a
C. an, the D. a, the

53. We are equal ........the sun.
The preposition to be used here is

A. under B. on
C. over D.in
54. 1 would have met you ........... I had been there.
The conjunction to be used here is
A.so B. though
C.if D. because
55. Roma was not ........... ill and may recover in few days.

The correct form of the word to be used is
A. danger B. dangerously
C. dangerous D. dangerly

56. In an informal letter, ‘my dear sister’ is known as
A. salutation B. subscription
C. subject D. from address
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